SEROOHS TR TETDX _1—

BEODAY CITAKRRE 500 =
NYAHLU —KEX 500
NDNEHITO EA » ZIF 350 m
R AVE

+ ClI3A o IR 150 ™
HL—DEA « ZIF 350 B
TR eAVE

+ Cl3A ¢ IR 150 ™

ixEDOHS CAE TS DX 21—

X”ZTa— S

BE DA 450 m
BEDAY CIIAKRE 500 m
BEDHS RHDIFTDH 350 m
Cl3h 100 ™
CIFAKNES 150 m
AL — 350 ™
DU —KBEX 400 m
VAL — 450 m
NV AU —KE 500 m
ABHDOF IS 400 m
ABDFSY CIFARNR 450 m
SEh o ZFIE 250 m
NDNEDITOEA » ZIS 350 ™
HU—DHEA « ZI & 350 m
J—XY 300 m
JAU—2—XY 400 m
R AVE S

+ CldA ¢ IN\ER 150 m

[ @%5 )

5008 X 20 = 9,500 < 10,000

4508 X 20/ = 8,500H <
400M X 20 = 7,500H <

9,000H
8,000H

X NWITNEBER1 O%ZESHEI,
X OEEsZECARDBEE. SR UEEA.

FOHTTELIIZS,

X REOAREBDEZIRETHIEI DCEEITRETT,

HEDAS 450 m
VAL — 450 H
AKBOFSD CIFAKE 450 m
o—X 300
R AVE

+ CI3A ¢ I\ 150 m
NDNEBITOEA » ZIF 350 m
+ ZlI3A 100 ™
HU—DEA « &I 350 ™
+ CI3A 100 B

SBDOHESCTARATEDX _a2—

DL —KE% 400 H
ANBOEFISD 400 m
ALU—2—XY 400 =
SEA + FIE 250 ™
TR EAVYE

+ CldA * XK 150 m
o—X 300 ™
+ ZlI3A 100 m=




